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Department of Accounting and Finance

40102  Accounting 1

	Monday 16th January 2006
	2.00pm – 4.00pm    2 hours


The pass mark for Accounting 1 is 40% weighted across the coursework and examination.  The examination contributes 70%.  There is an additional condition that you MUST  score AT LEAST 36% IN THE FINAL EXAMINATION PAPER in EACH PART OF PART ONE AND PART TWO of the paper in order to pass. If you score less than 36% in EITHER PART of the paper then your mark will be returned to Registry as the lower of your weighted mark and 36%.

PART ONE:  FINANCIAL ACCOUNTING (70 marks)

THIS SECTION CONTAINS QUESTIONS 1 TO 10

YOU MUST ANSWER ALL OF THEM

PART TWO:  MANAGEMENT ACCOUNTING (30 marks)

THIS SECTION CONTAINS QUESTIONS 11 TO 18

YOU MUST ANSWER ALL OF THEM

FOLLOW THE INSTRUCTIONS WITH EACH QUESTION 

Calculators must not be used to store text and/or formulae nor be capable of communication.

Invigilators may require calculators to be reset

THIS PAGE IS INTENTIONALLY BLANK

PART ONE:  FINANCIAL ACCOUNTING 

(TOTAL 70 marks)

QUESTIONS 1 TO 8  (15 MARKS)

Questions 1 to 8 are multiple choice questions.  Please answer on the sheet provided.  Question 1 carries one mark.  Questions 2 to 8 carry two marks each.  No marks are deducted for wrong answers.

Question 1 ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
A business reports operating profit before tax of £75m after charging depreciation £8m.  The increase in stock is £10m, while debtors and creditors remain unchanged  What is the operating cash flow?

(a)

£57m

(b)

£73m

(c)
£77m

(d)

£93m 

(1 mark)

Question 2 ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED

A fixed asset cost £15,000 at the start of year 3.  Its estimated residual value is £3,000 and it has an estimated useful life of 4 years.  It is sold at the end of year 4 for £7,000.   A full year’s depreciation is charged in the year of acquisition and in the year of disposal. Which of the following is correct?

(a)
The depreciation on a straight line basis is £3,000 per annum; the gain on disposal at the end of year 4 is £2,000. 

(b)
The depreciation on a straight line basis is £3,000 per annum; the loss on disposal at the end of year 4 is £2,000.

(c)
The depreciation on a straight line basis is £3,750 per annum; the gain on disposal at the end of year 4 is £500. 

(d)
The depreciation on a straight line basis is £3,750 per annum; the loss on disposal at the end of year 4 is £500. 

(2 marks)

Question 3 ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED

On reviewing the financial statements of a company, the company's accountant notes an insurance expense of £1,200 shown in the profit and loss account for the year ended 31 December Year 6.  The payment of £1,200 was made on 1 September Year 6 for one year’s insurance cover. Which of the following journal entries is required to record the year-end adjustment?

(a)
Debit prepayments £800; credit insurance expense £800.

(b)
Credit prepayments £800; debit insurance expense £800.

(c)
Debit insurance expense £400; credit accrual £400.

(d)
Credit insurance expense £400; debit accrual £400.

 (2 marks)

The following information relates to questions 4 to 8 inclusive

Bisuits plc

Profit and loss account for year ended 31 December Year 7
	
	
	£m
	£m

	Turnover
	
	
	380

	Cost of sales
	
	
	180

	Gross profit
	
	
	200

	Administration and selling expenses
	
	
	 70

	Operating profit
	
	
	130

	Debenture interest
	
	
	  7

	Profit before taxation
	
	
	123

	Taxation
	
	
	  37

	Profit after taxation
	
	
	86

	Dividends paid and proposed
	
	
	  30

	Retained profit for the year
	
	
	 56


Balance Sheet as at 31 December Year 7
	
	£m
	£m
	£m

	Fixed assets (net of depreciation)
	
	
	300

	Current assets:
	
	
	

	
Stocks and work-in-progress
	45
	
	

	
Debtors
	41
	
	

	
Cash
	  10
	96
	

	Less:  Creditors due within one year
	
	
	

	
Trade creditors
	(30)
	
	

	
Proposed dividend
	(30)
	(60)
	

	Net current assets
	
	
	 36

	
	
	
	

	Total assets less current liabilities
	
	
	336

	Creditors due after one year
	
	
	

	
5% Debentures
	
	
	(140)

	Net assets
	
	
	196

	
	
	
	

	Share Capital and Reserves
	
	
	

	
Issued share capital 


  (560m Ordinary shares of 25p nominal value each)
	
	
	140

	
Profit and loss reserves
	
	
	  56

	
	
	
	196


Note:  Assume opening and closing stocks are equal.  Cost of sales represents purchases of goods for resale.
Question 4  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The period of credit allowed by suppliers is:

(a)  365 x 30/200 = 54.8 days

(b)  365 x 30/180 = 60.8 days

(c)  365 x 45/200 = 82.1 days

(d)  365 x 45/180 = 91.3 days

 (2 marks)

Question 5  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The return on capital employed is:

(a)
100 * 56/196 = 28.6%

(b)
100 * 123/336 = 36.6%

(c)
100 * 130/336 = 38.7%

(d)
100 * 86/196 = 43.9%

 (2 marks)

Question 6  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The stockholding period is:

(a)  365 x 45/380 = 43.2 days

(b)  365 x 45/200 = 82.1 days

(c)  365 x 45/180 = 91.3 days

(d)  365 x 45/130 = 126.3 days

 (2 marks)

Question 7  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The gross profit percentage is:

(a)
100 x 45/200 = 22.5%

(b)
100 x 45/180 = 25.0%

(c)
100 x 200/380 = 52.6%

(d)
100 x 180/200 = 90.0%

 (2 marks)

Question 8  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
The following information is available about two companies, A Ltd and B Ltd.

	
	A Ltd
	B Ltd

	
	
	

	Ratio of sales to fixed assets
	1.8 : 1
	2.5 : 1

	Net profit % on sales
	25%
	20%


Which of the following statements is correct in making a comparison of company A with company B?

(a)
Company A has the lower % of net profit on fixed assets and the higher % of net profit on sales.

(b) 
Company A has the higher % of net profit on fixed assets and the higher % of net profit on sales.

(c) 
Company A has the lower % of net profit on fixed assets and the lower % of net profit on sales.

(d) 
Company A has the higher % of net profit on fixed assets and the lower % of net profit on sales.

(2 marks)

Question 9  ANSWER THIS QUESTION ON THE ACCOUNTING EQUATION WORKSHEET PROVIDED AND IN THE ANSWER BOOK PROVIDED

Landscapes plc grows garden plants and sells them to retail garden centres in many countries.  The company purchases seeds, plant containers, compost and garden chemicals for use in growing plants.  The company owns land and buildings, including large greenhouses.  It has equipment for heating and protecting growing plants.  The list of assets, liabilities and ownership interest of Landscapes Ltd at 1 January 2005 is as follows:

	
	Assets
	Liabilities and ownership interest

	
	£m
	£m

	Land and buildings at cost
	280
	

	Land and buildings, accumulated depreciation
	
	53

	Equipment at cost
	390
	

	Equipment, accumulated depreciation
	
	134

	Stock (Raw materials £66m, plants £20m) 
	86
	

	Trade debtors
	41
	

	Prepayments
	12
	

	Provision for doubtful debts
	
	10

	Cash
	22
	

	Trade creditors
	
	39

	Long term loans
	
	242

	Share capital (ordinary shares of 25p each)
	
	140

	Reserves
	___
	213

	
	831
	831


The following transactions and events relate to the year ended 31 December 2005:

	
	£m

	Stocks of containers, compost and garden chemicals were purchased on credit 
	250

	A payment of £120m was made for seeds (see also note 4 below)
	120

	Plants were sold on credit terms.  


The total sale price of plants delivered to customers was


The cost of goods sold (seeds, containers, compost & chemicals) was
	760

410

	Cash received from customers for plants sold on credit
	740

	Cash paid to suppliers
	230

	Wages paid to plant care staff, in cash during the year 
	120

	Administration and selling costs paid in cash during the year (including interest on loans at 4% on £242m = £10m)
	44

	Some equipment was sold on 1 July for £12m.  The original cost was £32m and the accumulated depreciation at 1 January 2005 was £18m.
	12


On 31 December 2005 the following transactions and events required attention.

1. Selling expenses include commission to agents.  Commission earned but not paid at the end of December 2005 amounted to £8m.  This commission was paid in the first week of January 2006.

2. Depreciation on equipment is to be calculated as 20% on a straight-line basis. No depreciation is calculated in the year of disposal.  The directors wish to charge £8m for depreciation on buildings.

3. The directors have reviewed the list of debtors at 31 December 2005 and have decided that the provision should be decreased to £6m.  

4. Seeds are purchased on an annual agreement which involves payment in advance to the supplier.  At 1 January 2005 the prepayment was £12m.  During the year £120m was paid in cash.  At 31 December 2005 the prepayment was calculated as £17m.

5. Stocks of plants costing £6m were destroyed by frost during the year. The loss was not covered by insurance.

6. Corporation tax of £25m is payable after the end of the year.

Required 

WRITE THE ANSWER TO PART (a) ON THE ACCOUNTING EQUATION WORKSHEET ATTACHED TO THIS PAPER

(a) Record on the accounting equation worksheet the effect of the above transactions and events of Landscapes plc for the year ended 31 December 2005.

(15 marks)

WRITE THE ANSWER TO PART (b) IN THE ANSWER BOOK PROVIDED

(b)
Produce (i) the profit and loss account and (ii) the balance sheet of Landscapes plc in respect of the year ended 31 December 2005, in a format suitable for presentation to shareholders.

(15 marks)

WRITE THE ANSWER TO PART (c) IN THE ANSWER BOOK PROVIDED

(c)
Give three possible explanations for cash flow from operations being less than operating profit.

(10 marks)

(Total 40 marks)

Question 10  ANSWER THIS QUESTION IN THE ANSWER BOOK PROVIDED

You are a financial adviser to a major investment fund.  Explain the advice you would give on the approach proposed by the companies in each of the following unrelated cases,  making reference to appropriate accounting definitions, measurement principles and qualitative characteristics of financial statements:

(a)  
Internet Auction plc has become very popular as a website for selling second-hand high-quality clothing.  The company has hired a brand valuation specialist to put a value on the company’s reputation in order to report it as an asset in the balance sheet.  

(5 marks)

(b)  
Gas Heating plc has agreed to buy gas from Eastern Europe at a fixed price per unit for the next three years.  The quantity to be purchased will vary between defined upper and lower limits.  The finance director has decided to explain this in a note to the balance sheet but not to report a liability in the balance sheet.

(5 marks)

(c)  
Coffee Company plc provides franchises for individuals who want to start their own business.  Coffee Company provides a mobile van, coffee supplies and advertising materials plus a backup support service.  The individual pays £36,000 at the start of the franchise, which lasts for three years.  Coffee Company also receives 1% of the profit of each franchise business.  Coffee Company has sold 20 franchises during the accounting period.  The finance director has reported ‘Franchise sales £720,000” as revenue in the profit and loss account of Coffee Company plc for the accounting period.

(5 marks)

(Total 15 marks)

PART TWO:  MANAGEMENT ACCOUNTING

(TOTAL 30 marks)

Questions 11 to 16 are multiple choice answer questions.  Please answer on the sheet provided.  Questions 11 to 14 carry one mark each.  Questions 15 and 16 carry two marks each.  No marks are deducted for wrong answers.

Question 11  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED
Paper Maker Ltd uses activity-based costing to allocate overhead costs to products.  Which of the following statements is a correct description of part of the process of activity-based costing?

(a)
Separate the activities into those that vary over time and those that are fixed over time.

(b)
Absorb activities into product cost using an overhead rate of cost per direct labour hour.

(c)
Identify activities that drive costs and then create a cost pool for each activity.

(d)
Record activities in the nominal ledger.

(1 mark)

Question 12  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


Which of the following is the best description of a period cost?

(a)
Any overhead cost that is incurred during a given period of time in the factory of a manufacturing company.

(b)
Any selling, general or administrative cost incurred during a given period of time in a manufacturing company.

(c)
A unit cost that remains constant during a given period of time.

(d)
A total cost that is independent of output during a given period of time.

 (1 mark)

Question 13  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


Which of the following is the best description of the profit/volume ratio?

(a)
Selling price per unit divided by profit per unit.

(b)
Contribution per unit divided by selling price per unit.

(c)
Fixed cost per unit divided by variable cost per unit.

(d)
Selling price per unit divided by variable cost per unit.

 (1 mark)

Question 14  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


Which of the following is the best description of a cost centre?

(a)
a unit of the organisation in respect of which a manager is responsible for costs under his or her control.

(b)
a unit of the organisation in respect of which a manager is responsible for  profits under his or her control.

(c)
a unit of the organisation in respect of which a manager is responsible for setting prices paid by customers of the centre.

(d)
a unit of the organisation in which stocks are valued at full cost of production.

(1 mark)

Question 15  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED


A company manufactures lightweight electric scooters.  These have the following manufacturing costs:

	
	£ per scooter

	Labour (10 hours at £8.00/hour)
	80

	Materials
	200

	Variable production overheads
	110


In addition, the company has monthly fixed manufacturing overhead costs of £120.


If 20 electric scooters are manufactured every month, what is the total cost of manufacturing for one month?


(a)
£5,720


(b)
£6,320


(c)
£7,800


(d)
£7,920

 (2 marks)

Question 16  ANSWER ON THE MULTIPLE CHOICE SHEET PROVIDED

Costs incurred during an accounting period are as follows:

	
	£

	Direct materials
	80,000

	Direct labour
	70,000

	Indirect materials
	30,000

	Indirect labour
	20,000


1,000 hours are worked in the accounting period.

The overhead cost rate is:

(a)
 £50 per hour

(b)
 £90 per hour

(c)
£150 per hour

(d)
£200 per hour

(2 marks)

Question 17  ANSWER THIS QUESTION IN YOUR ANSWER BOOK

A new company, Householder Ltd, is planning to sell only three types of electrical equipment in shops spread around a city.  This type of equipment has not been sold previously.  The table below sets out information relating to the budget for the first quarter of Year 1.

	
	Kettles
	Steam irons
	Toasters

	Unit sales
	2,000
	3,000
	1,000

	
	£
	£
	£

	Unit selling price
	20
	12
	25

	Unit variable cost
	11
	9
	18


The unit variable cost is the price paid to the supplier for each item of electrical equipment.

The quarterly costs of operating the shops are budgeted as follows:

	
	£

	Salaries
	18,000

	Running costs
	8,000

	Depreciation
	3,000


The company plans to sell 10% of goods on one month’s credit and the rest for cash.  All purchases will be made on one month’s credit.  Stock levels at the end of the quarter will be 5% of the sales of the following quarter.  Quarterly sales levels are expected to remain constant throughout Year 1.  Salaries and running costs are paid as soon as they are incurred.

Required

(a)  Prepare a purchases budget for the first quarter of Year 1.

(b)  Prepare a budgeted cash flow statement for the first quarter of Year 1.

(12 marks)

Question 18  ANSWER THIS QUESTION IN YOUR ANSWER BOOK
Required

Bright Lights Ltd makes lighting decorations for use in public places at Christmas and New Year.  Most of the work is carried out between September and December.  The sales department has received an enquiry from a potential customer for decorations to be used in a ‘midnight at midsummer’ festival.  The potential customer is asking for a substantially lower price than is normally charged.  Most of the work will be carried out during March and April.


Explain the factors to be considered by the manging director of Bright Lights Ltd in setting a price for this special order.

 (10 marks)

END OF PAPER
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ACCOUNTING EQUATION WORKSHEET

	
	Assets
	Liabilities
	Ownership Interest

	Landscapes plc
	Cash


	Land and buildings

Cost
	Land and buildings Acc depn
	Equipments

Cost
	Equipments Acc depn
	Stock
	Debtors & pre-payments
	Doubtful debts
	Creditors and accruals
	Loans and Provisions
	Share capital & reserves
	Revenue
	Expenses

	
	£m
	£m
	
	£m
	£m
	£m
	£m
	£m
	£m
	£m
	£m
	£m
	£m

	Balance at 1/1/2005
	22
	280
	(53)
	390
	(134)
	86
	53
	(10)
	39
	242
	353
	
	

	Transactions in Year
	
	
	
	
	
	
	
	
	
	
	
	
	

	Purchases, containers, compost, chemicals
	
	
	
	
	
	
	
	
	
	
	
	
	

	Purchases, seeds
	
	
	
	
	
	
	
	
	
	
	
	
	

	Sale on credit terms
	
	
	
	
	
	
	
	
	
	
	
	
	

	Cost of goods sold
	
	
	
	
	
	
	
	
	
	
	
	
	

	Cash from customers
	
	
	
	
	
	
	
	
	
	
	
	
	

	Paid to suppliers
	
	
	
	
	
	
	
	
	
	
	
	
	

	Wages
	
	
	
	
	
	
	
	
	
	
	
	
	

	Administration and selling exps
	
	
	
	
	
	
	
	
	
	
	
	
	

	Asset disposal
	
	
	
	
	
	
	
	
	
	
	
	
	

	31 Dec 2005
	
	
	
	
	
	
	
	
	
	
	
	
	

	Expenses unpaid
	
	
	
	
	
	
	
	
	
	
	
	
	

	Depreciation


	
	
	
	
	
	
	
	
	
	
	
	
	

	Doubtful debts
	
	
	
	
	
	
	
	
	
	
	
	
	

	Prepayments for seeds
	
	
	
	
	
	
	
	
	
	
	
	
	

	Stocks
	
	
	
	
	
	
	
	
	
	
	
	
	

	Taxation
	
	
	
	
	
	
	
	
	
	
	
	
	

	Balance at 31/12/2005
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Semester 1 2005/06

Multiple choice answer sheet for January 2006 degree examination

Your registration number………………………:………………………………….

Tick the box (A, B, C, or D) that corresponds to the answer that you select

If you have to make a correction, make sure your answer is clear to the marker
QUESTIONS ON FINANCIAL ACCOUNTING

	
	
	Question
	Answer
	
	Column for markers use only

	
	
	
	A
	B
	C
	D
	
	
	
	

	
	
	1
	
	
	
	
	
	/1
	TOTAL
	

	
	
	2
	
	
	
	
	
	/2
	
	

	
	
	3
	
	
	
	
	
	/2
	For markers use only
	

	
	
	4
	
	
	
	
	
	/2
	
	

	
	
	5
	
	
	
	
	
	/2
	
	

	
	
	6
	
	
	
	
	
	/2
	
	

	
	
	7
	
	
	
	
	
	/2
	
	

	
	
	8
	
	
	
	
	
	/2
	/15
	


QUESTIONS ON MANAGEMENT ACCOUNTING

	
	
	Question
	Answer
	
	Column for markers use only

	
	
	
	A
	B
	C
	D
	
	
	
	

	
	
	11
	
	
	
	
	
	/1
	TOTAL
	

	
	
	12
	
	
	
	
	
	/1
	
	

	
	
	13
	
	
	
	
	
	/1
	For markers use only
	

	
	
	14
	
	
	
	
	
	/1
	
	

	
	
	15
	
	
	
	
	
	/2
	
	

	
	
	16
	
	
	
	
	
	/2
	/8
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